RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

SeeMeCNC Guides
RostockMAX v3/3.2 AC Heated Bed Installation

How to upgrade your RostockMAX v3/3.2 with a 350W AC full metal heated bed.

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 1 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

TOOLS:

5/32" -or- 4mm Dirill Bit (1)
Power Drill (1)

#2 Phillips Screwdriver (1)
5/16" or 8mm wrench (1)
small drop oil any type (1)

#1 Phillips Screwdriver (1)
wire stipping tool (1)

wire terminal crimping tool (1)
Cleaning Alcohol and Paper Towels (1)
Electrical Tape (1)

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 2 of 16


file:///Item/5_32%2527_-or-_4mm_Drill_Bit
file:///Item/Power_Drill
file:///Item/2_Phillips_Screwdriver
file:///Item/5_16%2522_or_8mm_wrench
file:///Item/small_drop_oil_any_type
file:///Item/1_Phillips_Screwdriver
file:///Item/wire_stipping_tool
file:///Item/wire_terminal_crimping_tool
file:///Item/Cleaning_Alcohol_and_Paper_Towels
file:///Item/Electrical_Tape

RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 1 — Before You Start

e Proceed at your own risk.

Introduction - Read Me First!

jour new SeeMeCNC® 3D printer

L e First, click here to read safety

Warning . . . . .

Py o o st ot o information . This safety information
may be updated at any time so

T occasionally check for updates.

xpectedly. Pay close attention and keep clear while

1 18 years of age require supervision.

W | The hot end of the machine can reach very high temperatures of
. | 700F and cause serious burs. The heated print surface (heated

bed) can also reach temperatures high enough to cause severe . . . .
burns, Allow both to cool for 20 minutes after turing off power. PY N O I E . I h is g u |d eisi nte n d ed to be
Use caution near moving parts of the machine. Keep body and
= loose articles clear.

followed online in order to fully utilize
the links and documentation found
r— within.

e ma o Ve
A g contai

nt
produce small parts which can be a choking hazard to children.

Keep a copy of this manual near the machine easily accessible to all operators.

Use of this machine is at your own risk.

[ ——————r—————— e Locate the components for your AC
heated bed upgrade Kkit.

o If you are missing parts or have a
defective component, please submit
a support ticket through the link
under the 'Support' tab on the
SeeMeCNC website.

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 3 of 16


file:///Document/LTYJwRbbPexAYt5x/SeeMeCNCWarningsandIntrodctionPageofalli.pdf

RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 2 — Proceed at own risk

/N Use this kit and instruction at your own risk.
A SeeMeCNC will not accept responsibility for property damage, fire, injury, or death.
@ Please use all precautions to protect the AC line-voltage wires.

@ Some installations will require problem solving for fit and function.

Step 3 — Remove Old Heated Bed

& Make sure the printer is turned off and unplugged before following this guide!

e Remove and save boro glass plate for later

e Cut existing power and thermistor wires near each soldering connection of the old Onyx heated
bed.

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 4 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 4 — Drill Bed Mounting Holes

o Place the new 84671 RMAXv4 Heat Spreader Laser Etched as shown to position holes.

@ Note: counter sinking the mounting and thermistor holes is not necessary (as pictured).

A Make sure the heat spreader is lined up with the hole where the bed glass previously sat as
perfectly as possible before continuing!

o Use the 4mm (5/32") drill to make holes in the three places shown for later bed mounting

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 5 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 5 — Drill Holes & Mount SSR

e Remove the clear plastic cover from the 26193 SSR

o Place the SSR in the machine as shown
e Mark and drill the mounting holes using the 4mm (5/32") drill
e Position the AC output side of the SSR near the Y tower

o Use the two 30117 6-32 x 5/8"L Phillip Pan head - SS and two 30164 6-32 Nylon Lock Nut - SS
to secure the SSR in place

@ During this step would be a good time to vacuum or blow out the sawdust from your machine.

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 6 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 6 — Connect the DC bed power to the SSR

@ Strip 1/4" off the end of each of the existing black and red 12awg bed wires that were previously
snipped.

e Crimp the 26178 Ring Terminal Yellow Insulated for #8 Stud and 12awg as shown to the ends
of the wires.

@ Attach the red wire to the V+ terminal number 4, and black DC- to terminal number 3 on the SSR

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 7 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 7 — AC Main Power Wiring

A Be certain your machine is not plugged in to power before continuing!

e Strip 1/4" off the white and black wires included in the kit, and crimp one ring terminal to one end of
the white wire, and one ring terminal to each end of the black wire.

e Attach the white to N and black to L on the power supply, as shown in the photo.

@ Note: It's recommended to turn the existing red ring terminals upside down when installing them
both on the same screw, as shown in the photo.

@ Attach the other end of the black wire to the SSR terminal number 1.

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 8 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 8 — Preparing the Bed

o Clean the back of the aluminum heat spreader with alcohol and a paper towel.

o Peel the backing off of the adhesive on the 58801 Silicone Heater 300mm Dia 350W REV B

e Apply the heating pad, aligning the three notches with the deeper grooves on the heat spreader,
and the white AC wires exiting from the right of the bed, as shown in the photo.

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 9 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 9 — Installing the Bed Clamps

o Install the three 58815 Build Plate Clamp for 3mm Boro Glass - Black as shown, using the
30308 M3 - .50 x 18mmL Phillip PH Machine Screw - SS , and three of the 30321 M3 - 0.50

Nylon Lock Nut - SS

e Tighten to feel, where it's snug but the clamp still turns, firmly.
o Install the second Nylon Lock Nut and tighten so the first nut won't come loose.

o Apply the 26659 Kapton Dot 1 inch Dia as shown, under the clamping portion of the bed clamp.

& It is very important that the kapton dots are applied properly, in the proper location and with little
to no air bubbles!

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 10 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 10 — Installing the bed Thermistor

o Use the provided 30234 M3 - .50 x 10mm Phillip Flat Head Machine Screw and 30449 #4 SAE
Flat Washer - SS to install the 26206 Thermistor Cartridge Mounting Block as shown.

e Fully insert the 26194 Thermistor Cartridge 100K and gently secure in place using the second
included M3 x 10mm flat head screw

o Plug the thermistor into the 51501 Temp Board SMC-T1 thermistor board

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 11 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 11 — Crimping the Thermistor Wires

o Strip about 5mm of the existing white 26awg thermistor wires exiting the Y tower (that you snipped
from the old bed)

@ Be sure the thermistor wires are about 400mm in length from where they exit the Y tower.

e Use the included 26205 SL Crimp Terminals for Molex Latching Connectors and a pair of
crimpers to crimp the terminals to the ends of the white wires.

e House them in the 26202 Molex SL 2 Pin Latching Connector Housing Female, making sure
they are inserted all the way with a click.

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 12 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 12 — Installing the Bed Wiring

e Strip a 1/4" off of the remaining large
black wire from the kit, and crimp a
26178 yellow ring terminal to one
end.

e Attach the ring terminal you just
crimped to the SSR in terminal
number 2.

e Strip 10mm off the other end of the
black wire

o Re-install the clear plastic cover on
the SSR

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 13 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 13 — Installing the Bed Wiring (cont'd)

e Pass the silicone heater wires through the existing plastic bed insulator as shown.

o Strip the wires from the heater and attach one of the wires to the black wire leading from the SSR
terminal number 2, using the 26228 Splice Conn. Insul. 10-16AWG Crimp connector

@ Attach the other white wire to the white wire leading from N on the power supply
e Plug in the SL connector you installed on the thermistor leads to the SMC-T1 thermistor board

@ Apply electrical tape to the white wires coming from the silicone heater as shown to cover the wires
when folded back towards the bed.

This document was generated on 2023-07-28 02:31:45 PM (MST).
© 2023 seemecnc.dozuki.com/ Page 14 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 14 — Installing the Bed Assembly

@ Apply a drop of oil to the tip of the threads on the three 30034 6-32 x 1.75"L Phillip Pan Head
Screw - SS

o Pass the pan head screws through the mounting holes on the heat spreader, then through the
84612 Bed Mounting Post (PEEK), the melamine frame of the printer, then the 30450 #6 SAE
Flat Washer - SS with the three remaining 30164 nylon lock nuts

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 15 of 16



RostockMAX v3/3.2 AC Heated... Guide ID: 133 - Draft: 2023-07-25

Step 15 — Adjust Printer Height in the Firmware

e Re-install all the covers on the machine.

@ Plug in the machine and turn it on.

e Follow these guides and decrease the printer height in your firmware by 23mm:
e RAMBo

@ DuetWifi

@ After changing the machine height in the firmware, follow this guide to fully re-calibrate your
printer.

A Note: Make sure the probing speed in your "First Probe" macro is set to F800 in both locations
shown in the photo!

This document was generated on 2023-07-28 02:31:45 PM (MST).

© 2023 seemecnc.dozuki.com/ Page 16 of 16


https://seemecnc.dozuki.com/Guide/RAMBo+Setting+Z+height/134
https://seemecnc.dozuki.com/Guide/DUET+reset+bed+map+for+%2527first+probe%2527+macro/103

	RostockMAX v3/3.2 AC Heated Bed Installation
	Written By: Caleb Fairres

	TOOLS:
	Step 1 — Before You Start
	Step 2 — Proceed at own risk
	Step 3 — Remove Old Heated Bed
	Step 4 — Drill Bed Mounting Holes
	Step 5 — Drill Holes & Mount SSR
	Step 6 — Connect the DC bed power to the SSR
	Step 7 — AC Main Power Wiring
	Step 8 — Preparing the Bed
	Step 9 — Installing the Bed Clamps
	Step 10 — Installing the bed Thermistor
	Step 11 — Crimping the Thermistor Wires
	Step 12 — Installing the Bed Wiring
	Step 13 — Installing the Bed Wiring (cont'd)
	Step 14 — Installing the Bed Assembly
	Step 15 — Adjust Printer Height in the Firmware


